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1. A, B and C divide an amount of Rs. 9915
amongst themselves in the ratio of 3:5:7

respectively. What is C's share in the amount?
(in rupees)

(A) 6627
(B) 7627
(©) 4627
(D) 5627

2. Select the missing number from the given
responses:
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© 6
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3. 48% of a number is 1248. What is the
number? '

(A) 2450
(B) 2600
(C) 2850
(D) 2700

4. Which of the following rivers did not merge
into the Bay of Bengal?

(A) Mahanadi

(B) Krishna
(C) Godavari
(D) Narmada
5 % of 2 ofg of 665 = 7
(A) 326
(B) 308
(C) 268
(D) 304

(3)

GET IT ON
Google Play

RB/SI/WB(Prel)/2025

1. A, Ba3R C Fgma sy 9915 Bt 3:5:7
SIS S5 PCA (T | 63 B C-97 2 B é Q ’
sifgsre @ il 2

(A) 6627 l} ¢
(B) 7627 1
7 4627 CLC
(D) 5627 ‘g_; 4
ﬂﬁ
2. o476 TequfH (A SEpeAfEe Hn e
PPe 3
6 5 3 10
2 8 ? 4 7]
4 6 3 8 3
5 9 15 3 ’%
(A) 7
(B) 4
© 6
D) 5
G
3. (ICT AT 48% &1 1248 | SR T 2 l::..%:
(A) 2450 W X G 2% e
((B‘)' 2600 = X
(C) 2850 YEE =
(D) 2700 /q/

4. I @F TH IR R @R
(A) TR

(B) T
(C) MR
g = %

N4

6 8 3 @
5. 665-93 ?'\ﬂﬁ 5"\‘3? -5-=? \9 L
(A) 326 -@ﬁ%@ . cg%;(
(B) 308 > =
=
(C) 268 Z
304

[Please Turn Over]


https://www.adda247.com/
https://applink.adda247.com/d/XhqWf9lSap

I[33® Prime

ALL EXAMS, ONE SUBSCRIPTION

h d
€
1,00,000+ Personalised Unlimited
Mock Tests Report Card Re-Attempt
600+ 25,000+ Previous
Exam Covered Year Papers

ATTEMPT FREE MOCK NOW


https://www.adda247.com/product-testseries/79075/test-prime?productId=79076

Adda2417

RB/SI/WB(Prel)/2025

6. Pomology deals with
(A) study of animal behaviours.
(B) study of fossils.
(C) study of fruits.
(D) study of teeth.

7. Santosh Trophy is associated with the game
of
(A) Tennis
(B) Football
(C) Cricket
(D) Badminton

8. The red blood cells are formed in the
(A) Lymph nodes
(B) Bone marrow
(C) Heart
(D) Liver

9. The profit after selling a pair of trousers -for
Rs. 863 is the same as the 10ss incurred after sc?llm g
the same pair of trousers for Rs. 631. What 1s the
cost price of the pair of trousers? (in rupees)

(A) Can not be determined
(B) 800
(C) 750
(D) 747

10. Which one among the following is @
deep-water all weather seaport in India?
(A) Paradeep
(B) Visakhapatnam
(C) Kandla
(D) Marmugag
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{, The memory of a computer is commonly
o prcssed . terms of Kilobytes or Megabytes. A
h‘yle ;s made U? of -
(A) 2 binary digits.
(B) 2 decimal digits.
(C) 8 binary digits.
(D) 8 decimal digits.

12. While the group photo of a family was
raken, the father was found to be sitting to the left
of the son and right to the grandfather. Mother was
siting to the right of her daughter but left to
grandfather. Who was occupying the central place?

(A) Father

(B) Mother

(C) Son

(D) Grandfather

13. Two statements are given. Based on those
which of the given conclusions can definitely be
drawn?

Statements:
(a) Authors are learned people.
(b) Some doctors are authors.
Conclusions:

() Some doctors are learned people.
(II) Some learned people are doctors.
(A) Only (I) follows. £
(B) Only (IT) follows.

(C) Neither (I) nor (IT) follows.

(D) Both (I) and (1I) follow.

14. Whom of the following posts there 15 no
provision in the Constitution of India for the

impeachment?
(A) The Governor
(B) The Vice-President
(C) The Chief Justice of a Hig
(D) The Chief Justice of India

h Court
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Prars ¢

(I) Some doctors are learned people.
(IT) Some learned people are doctors.
(A) @@ (1)

(B) &q&wi@ (1D) |

(C) (D (1) @I 77 |
(I) @& (11) To13 |

14, SO WY@ Aoy @ i@
PHEITST fuia @2 e -

AT el

(B) Tef-q1gaifs

(C) 2D Ay fpigafe
(D) Sia0ed A4 R

L/

[Please Turn Over]


https://applink.adda247.com/d/XhqWf9lSap

Adda2417

RB/SI/WB(Prel)/2025

15. In a joint family, there are father, mother,
ied daughter.

three married sons and one unmarri
Of the sons, two have two daughters each and one
has a son. How many female members are there in
the family?

(A) 8

B) 9

(C) 12

(D) 6

16. If ‘+ stands for multiplicalion,,‘—’ stands
for division, ‘x’ stands for addition, ‘= stands for
subtraction, then which one of the following
equation is correct? '

(A) 12+5-4x5+4=22
(B) 12x5+4-5+4=20
~ (C) 12+5-4%x5+4=16
(D) 12+5+4-5%x4=18
L e
s RS < A S - q/

A%

4

17.- Ramen drove from home to a neighbouring
town at the speed of 50 km/hr. and on his return
journey, he drove at the speed of 45 km/hr. and
also took an hour longer to reach home. What

distance did he cover in each way? (in km.)
(A) 500 '
(B) Can not be determined & \
(C) 450 % s
& G
\o3 eb(,f’ VO % <

g\ Z |
18. What is the least nitnber to be added to

3333 to make it a perfect square?

(A) 78 Er
(B) 57 'EECS 5 5
(731 2

(D) 24 \ 9 \ng;g

GET IT ON
Google Play

5

(6)

15. g e« =, =, fonl Rafks
G @i wfalfEs St SItEs | @t e 2\9 .,
76 0 Tl AR GGG G0 ‘?J?_I\H[C‘i l@ﬂ%ﬁ:
FEG SIfZE! S e ? i

F W

(A) 8
§ 9 |

RS T 2%
POS DD g *

(C) 12
(D) 6
(WS, & C’t?ﬁaﬂr
2 "
16. 3 4+ T e, = S, X A, 2
ﬁmﬁ,wﬁﬁmwmsﬁﬁﬂwfﬁ A 7
(A) 12:5-4x5+4=22
(B) 12x5+4—5+4=20
12+5—4><5+4=16
(D) 12+5+4—5><4=18

‘FL-E_.{Q,:‘_C\KG‘/

1 _
Wl %&10 ﬁlﬁj(g@
17.meﬁ.cw?nmxﬂﬁm

50 Refal/=e51 (<0l A GR A s 45 R/
R0 (R G R AT O G795 @R AT AL

ek .1'

18, TN IR AR 33334 A 1A T

catorpi sjefasl AR I
(A) 78
(B) 57
31
(D) 24



https://www.adda247.com/
https://applink.adda247.com/d/XhqWf9lSap

Ao —‘;b

dda247
A

g, Inatow of trees, a tree 1 7th from left end
d ]' Ath from the right end. How many trees are

(here in the row?

(&) 21
®) 19
© 18
(D) 20

20. Rohan walks a distance of 3 kms towards
North, then turns to his left and walks for 2 kms.
left and walks 3 kms. At this point

He again turns
he turns to his left and walks for 3 kms. How many
kms is he from the starting point?

(A) 2 =

B) 1 Q}

©) 5 15

(D) 3 \ I \

21. The velocity of sound in air (under normal
condition) is
(A) 332 m/sec
(B) 3320 m/sec
(C) 30 m/sec
(D) 320 m/sec

22. The average age of a father and his son is
22years. The ratioof theirageis 193 respectively.
What is the father’s present age in years?

(A) 30
(B) 48
(C) 38
(D) 44

23. The product of two consecutive prime
numbers is 3127. What is the greater number?
(A) 59
(B) 53
(C) 61
(D) 47
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25. Which of the following Tivers does not

originate in Indian Territory?
(A) Brahmaputra
(B) Mahanadi
©) Chenab
(D) Ravi

26. Who was behind publishing the First
Newspaper in India?
(A) James Augustus Hicky
(B) Harish Chandra Mukherjee .
(C) Deen Bandhu Mitra '
(D) Hem Chandra Kar

97. Who was the First Indian Woman Winner
of ‘Miss World’ award?
(A) Lara Datta
(B) Sushmita Sen
(C) Reita Faria
(D) Aishwarya Rai

28. Whoof'the following was the UN Secretary-

General at the time of
startj ‘ ;
Sindoor’? ring of ‘Operation

(A) U Thant

(B) Antonio Guterres
(C) Trygve Lie
' (D) Dag Hammarskjoeld

(8)
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29, Howmany rectangles are there in the given
fgure?
i 2 =
®) 18
©) 2!
D) 19

30. Select the related number from the given
alternatves:
16:56::32:7
(A) 120
(B) 128
(C) 96
(D) 112

31. Which of the following Constitutional
Amendments of India lowered the voting age from
21 years to 18 years for the Lok Sabha and Assembly
Elections of India?

(A) 42nd
(B) 34th
(C) 61st
(D) 24th

32. Which coun@ gifted Statue of Liberty to

America?
(A) Poland
(B) Ukraine
(C) France
(D) Japan

jon, which of

format _
ncient?

33. In the context of their
the most &

the following types of rock is
(A) Plutonic
(B) Sedimentary
(C) Igneous
(D) Metamorphic

(9)
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are standing in
) the left of Q
left of O.

34. Five girls M, N, O, P and Q
arow. P is on the right of Q. N is or
but is on the right of M. P is on the
Who is standing on the extreme left?

(A) P
(B) O
©) Q
(D) M

35. The terms ‘Bull and Bear® are used in
(A) Sales Tax Department
(B) Income Tax Department
(C) Planning Commission
(D) Stock Exchange

36. If difference between Compound Interest
and Simple Intereston a certain sum of money for
2 years @ 5% p.a. is Rs. 122, what is the sum of

money? (in rupees)
(A) 46,800
(B) 48,000
(C) 48,800
(D) 45,000

37. Vitamin B, is most useful for combating
(A) Night blindness
(B) Rickets
(C) Anaemia
(D) Goitre

38. Whe '
What number will come in place of the ‘7’

mark?
(A) 1672
mu (SR
(C) 22
(D) 574 “p

(10)
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44. Commercially, Sodium b1
known as
(A) Bleaching Powder
(B) Soda Ash
(C) Washing Soda
(D) Baking Soda

45. Which one of the given responses would be
a meaningful order of the following?
1. Sentence 2. Word 3. Chapter

4. Phrase 5. Paragraph
(A) 4,3,1,2,5
(B) 1:3,2.4,3
©) 2,1,4,3,5
(D) 3,5,1,4,2

46. Select the related word from the given
alternatives:
SAFE : SECURE : : PROTECT : ?
(A) SURE
(B) CONSERVE
(C) GUARD
(D) LOCK

47. If A is 50% larger than C and B is 25%
larger than C, then A is what percentage larger

than B?
(A) 50%
®) 5% Q
(©) 20%
D) 25%

48. The Chairman of Rajya Sabha is
(A) elected by Parliament .and the
lcglslaturcs of the states jointly.

(B) clected by the members of Rajya
Sabha.
(©) nominated by the President.

(D) elected by the two houses of
Parliament.
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(D) 3,5,1,4,2

3. Chapter
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(C) Canberra
D) Damascus

50. 10% discount and then 20% discount in

yccession is equivalent to total discount of
s

(A) 15%
(B) 24%
(C) 30%
(D) 28%

51. Which of the following chemicals is useful
in photography?
(A) Silver Bromide
(B) Sodium Chloride
(C) Aluminium Hydroxide
(D) Potassium Nitrate

52. A, B and C enter into a partnership. A
invests some amount in the beginning. B invests
double the amount after 6 months and C invests
thrice the amount invested by A after 8 months.
They earn a profit of Rs. 45,000 at the end of the
year. What is C’s share in the profit? (in rupees)

(A) 12,000 4
(B) 18,000

- (C) 15,000
(D) 25,000

- ‘/'

33. The headquarters of United Nations is at
(A) New York
(B) Washington DC
(C) Geneva
(D) Paris.
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Territory of India?
(A) Lakshadweep
(B) Puducherry :
(C) Dadra & Nagar Haveli and Daman
& Diu
(D) Nagaland

56. Who was the First Chief Election
Commissioner of India?
(A) M.S.Gill
(B) Mrs. V. S. Rama Devi
(C) Sukumar Sen
(D) T.N. Seshan

57. Which one of the following is not a
multi-user operating system?
(A) MS-DOS
(B) Windows-2000
(C) UNIX
(D) Windows-XP

5 Ii%SWhiCh of the following awards is given by
CO to those who put their efforts to
popularise use of science in life?

(B) Kalidas Samman
(C) Magsaysay Award
(D) Booker Prize

e
55. Which of the following is not a Union

55, N @0 ©F0eT 96 @FEHiFie gum
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MS-DOS
(B) Windows-2000
(C) UNIX
(D) Windows-XP

=
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7)

empty a water tank in 30 minutes.

J tapcanempty itin 45 minutes. If both the

co“erate simultancously, how much time is
0

. tapﬂd 5 0 empty the tank? (in minutes)
peede

(a) 14
) 18
(C) 36
D) 15

0, Atap can

Ase

60. If the numerator of a fraction is increased
by 200% and the denominator of the fraction4is
increased by 120%, the resultant fraction is 1
What is the original fraction?

5
(A) Iw
6

B) 11
4

©) G
3

©) ;

[

61. Which- comet appears every 76 years?
(A) Donate’s
(B) Alpha Centauri
(C) Halley’s
(D) Holme’s

62. In a code ianguage PARENT is written as

BDEGJK and CHILDREN is written as

MOXQUEGJ, how is REPRINT written in the

code?
(A) FGBUXJK
(B) FGBFXJK
(C) FGBFXGD
(D) BGB.FXJK

(15)

RB/SI/N

7@ I
(A) 14
4818 % 2/ .
©) 36 \
D) 15 il

’:'5_/

60. 7 AT SARTR F<CE 200% i FACT 2

GT @ 120% e 0 2, O LT izl

i o FO°?
B 11 |§1ﬁ'€jt°"1ﬁ Ohx ‘}u?’ q_%{‘l—
@ 1 A
SR
p) o 1 S
e e
4
(g
3
(D) 11

61. IR Gy AfS 76 T2 T AN ZH 2
(A) COIB-a9
(B) W& GIRGIR
‘QQ)/ e«
(D) @IH-ad

62. IR S SR PARENT-G BDEGJK
@3t CHILDREN-(& MOXQUFG) & 3
REPRINT-G S (=721l 271 9

(A) FGBUXJK
(BT FGBFXJK
(C) FGBFXGD
(D) BGBFXJK

GET IT ON
Google Play

59, G 7 (I G 30 FfHes Qe 3 |
o et @2 et 45 FfAe 21 T 30

7
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64. The most abundant element in the earth’s

atmosphere i
(A) Oxygen
(B) Nitrogen
(C) Carbon dioxide
(D) Hydrogen

65. In1939, Subhash Chandra Bose was elected
as President of the Congress Party defeating
(A) Jawaharlal Nehru :

(B) V.B. Pattel
(C) Maulana Abul Kalam Azad

(D) Pattabhi Sitharamayya

66. The volume of which of the following
r:ca(t;rials decreases when it is heated from 0°C to
(A) Water
(B) Mercury
(C) Air
(D) Copper

67. Shigert
follow?r?é ieff:‘:‘:;g’ﬁ:lgn;)f the age of which of the
-damn ?
(A) Trees ng’ method used?
(B) Mountains
(C) Fossils
(D) Rocks

(16)

GET IT ON
Google Play ‘

63. A G G 12 AT 751 109 iz |
Bmﬁﬂ@awsﬁmmm|wé%@aa \
R

I e FA00 AR |
(A) 28 V58
®B) 18 Ao |
Jloed 8.\

D) 15 SA=b Uy
?q \ Y

&t

64. #JfAT AT IO Gt A @ Amg
ATl T, Ol 2T

e oo
(A) wezgelle (IF
B) fo. R. et
© ST Sge e S
Py S T

~ 66. ﬁmmﬂﬁmﬁmcmmm’@m
(e TS PEI?
(B) #iiTm

(C) I
(D) o

67. S o a0 et 00 e (o
EICEISEERTIETE:
(A)
(B) *¥S
oy S
®) R
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(B) Vir Chakra
(C) Param Vishishta Seva Medal

73. Which is the highest gallantry award in 73. SIS ARPTSIF A W@ﬁﬁv :
India? ! (A) %W , ? \
(A) Kirti Chakra (5 Tiv |

|

(C) #izw1 [RFZ Gl v

(D) Param Vir Chakra ((D)' sl 919 5 . i
i
74. The respective land masses of India and 74, ©iFe @ NeFR TR NG @b &
Sri Lankaare connected by which of the following? G ?
(A) Malacca strait | A) e
(B) Palk strait : (By % W
(C) Bass strait o B
Ben trait
RIS (D) GfaR el
75. Which of the following was the official 75, N @0 P W Wtﬁ o
court language during Akbar’s reign? . : &e1 ? :
(B) Turki Lz ®) o
(C) Arabic . ©)

(D) Persian _ i : }Dﬁ/ .

(A) Industrm smog. : : (A) f?qﬁ.{: ]‘ | .
_ (B) Sulphn_;ons smog, i 8 el RIRITT® 3
~ (©) Photochemical smog. e (B) FAeTi et ITe

. - |
) Acid fumes; 2 1 (© e et (A

|
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7)

¢ three letters of English alphabet
... and the last two letters
hletter will be 19th letter to

ers :
1" .4, then whic
i ersed: the left of 5th letter from

ﬂﬁr?;lft of 17th letter 0
i

e
bt
LTV

®) X
c W
D) B

78.

is
(A) zero.
(B) twiceofthe weightatthe earth surface.

(C) Y2 of the weight at the earth surface.
(D) infinite.

79, 729 ml of amixture contains milk and water
in the ratio 7 : 2. How much more water is to be

The weight of a body at the Centre of Earth

added to get a new mixture containing milk and

water in the ratio 7 : 3? (in ml)

(A) 71 ‘el \z,
(B) 52
() 60 \C/z
(D) 81 G \ 0
e
——gg'f—f\r %}b 1Y
LB R

80. Select the related letters from the given
dlternatives:
ABCD : WXYZ: : EFGH : ?
(A) VUTS
(B) WXYZ
(©) STUV
(D) ZYXW

(19)

GET IT ON
Google Play

RB/SHWL s s vy v

77. 3 3T IR 29w foa S 3 St ==
IR T 8 TSITA BeI0® AT 93 (13 16 1/ 51 7
@1 27, Od @i 30 S (A o qeefz Sifacs
eI el S Sfepies 3¢ 3 2

(A V
B) X
(O
(D) B

78. I IB ST (e S L
485 )
(B) R s¥ere O Al Go O fae |
(C) +RA7 Pt OIF I G O OEHE |
(D) S|

79. 729 fifF1 74 e Tt fiaitd 718 SETs W7o
7+ 2 |52 o T ST GPIITET o (eIt 14 € SeTd
SRS 7 : 3 RA?

(A) 71 < |
(B) 52 -
©) 60 r’gza
Q \ 81
% SE-
& &=
B
% i
2 V0. 2wa Rewell @ FiFe bR @=
ICol
ABCD : WXYZ : : EFGH : 9
(A) VUTS
(B) WXYZ
(CY'STUV
(D) ZYXW
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dda@j GETITONe e

: ‘A eonsecutiveeve bers 81. w1f6 @i o
51 T r.-wcmgcnf4mnsc,<,umbwbn"‘"“ : TR A, g
A B, C .-];m D is 99. What is the product of B 1 1 1y g esepapat ang 9 D R l
and D? 5 (A) 9890 ! I
[ 9 |
(A) 9890 Z ") & 5996 |
(B) 9996 B (C) 9948
C) 9948 ZB(DC’ V26
( (D) 9796 Lo
(D) 9796 B et
NERHIST SRS O -
gt
wr AL 2 YD X
E 78k Vo 7 oted
7¢
-
82. Find out the questioned number: ( Q 82. HRILT BT 71016 fefy WO/’QT:
6:5:8:7 5. 151819 | %’
:5:8: L s 6:5:8:" b
(A) 6 i (A) 6 0)7
(B) 12 A Q (B) 12
(C) 2 A —_ = ©) 2
e LA TS oL
£ L %<
G 1 g
0 A
c & / y
83. Father’s age is 30 years more than the son’s 83, fAIeI< 7 +{199 ICTH (303 30 = (3 17

age. Ten years hence the father’s age will becom¢ T e [ B O R e B (OO | IAeE fomed 2@ (k)
three times the son’s age that time. What is son’s | o 3631t 0 9212

present age in years?

i Nl Sl { P 41
(A) 5 s - /(B) o
(B) Can not be determined ©) 8
©) 8 O
N U"(l :
o . D) 7
3&;4 \0 ) ~ ot 40
Lo oy 80
BIN-_\O
84, Who coi il - g_ t
(A) i‘."“cdthe,,ame ‘Pakistan’? 84. (o ‘sl AR T AL
laquat Alj Khan e
(B) Chowdhury Rehmat Al ), reeraAr
(C) Mohammag aj; Jinnah M@WW
(D) Fazlul Hagye (C) sz wiifet e
: (D) FEEE P
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r

Jy the tWO different positions of a cube
g5, S iwith dots from 1 t0 6 marked on its
+iven D€ 3‘ gt how many dots are there on the face
) ind 0

f; aCCS.
OppOS

ntaining 4 dots.

g6. The longest Continental Railway in the

world is
(A) Trans-Atlantic Railway

(B) Canadian Pacific Railway
(C) Canadian National Railway
(D) Trans-Siberian Railway

ite {o [hﬂt co
(A 3
(B) 5
© 1
D) 2

87. How many minutes for each degree of -

longitude does the local time of any place vary
from the Greenwich time?

(A) 6
®) 8
©) 2
(D) 4

$8. The birthday of which of the following
leaders is celebrated as “Teachers’ Day’ in India?
(A) Dr. S. Radhakrishnan '
(B) Dr. Rajendra Prasad
(C) Dr. C.Raj agopalachari
(D) Lala Lajpat Rai

04x1.5 —9
0.2
(A) 0.3

(B) 02
©) 3
D) 2

39.

(21)

GET IT ON
Google Play
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85. Gl T v o7 st Baek
OF: G|
W%ﬂiﬂmmwamﬂwﬁaﬁfwwum
6 10 ©6 bz (e Witz | 4% ©6 men e fdde
SF o W6 A ferefar e |

(/M 3
(B) 5
) 1
(D) 2

3 - |
s S %0
86. +faa Mdew v =7l 2w
(A) GF-GaToS @@=l
(B) FHIfEaH *5iFiRes @=71d
(C) FHICR QS @@t
DY SRt e

87. ofc R Tfmieiz s & &Fwe
e
(A) 6
(B) 8
© 2

oyE

88. RS @I @O T SIH0S T

oy BT TP o9 =2
©. G, TR
(B) ©. QNS 2PN
(C) ©. fi. ASCAARTGIA /[
(D) =il FErs A’ & K xx
____-._-——"""_'7'
2= x%?

04x%1.5 —9 ;@_: \Y ‘g

0.2 2L

(A) 0.3

(B) 0.2

(D) 2

89.
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90. Which day is celebrated as ‘World Health
Day'?
(A) April 23
(B) April 18
(C) April 15
(D) April 7

91. Mahatma Gandhi was the editor of
(A) Seminar
(B) Modern Review
(C) Young India
(D) National Herald

92. Inanexaminationitisrequired to get460 of
the aggregate marks to pass. A student gets
368 marks and is declared fail by 8% marks. What
are the maximum aggregate marks a student can
get?

(A) 1150
(B) Can not be determined
(C) 1275

(D) 1350

93. Grammy Award is associated with
(A) Science
(B) Sports
(C) Music
(D) Literary works

. @ A “World Heal :

920 @+ faaft “Wor ealth Day fic;rﬁ%?
(A) 23 @fere
(B) 18 @fglel

(C) 15 «fer
F/? «afee

92. @Al 2 o TIEFI W 460 (A
@I 2 oI 2| G0 =T 368 T AR ¢

8% THA IO G TP | (I »Y Ol

D TS THA (90O A ?
(A 1150 YA
{wﬁt‘ﬁ 168 ’
(©) 1275 /Ei o
(D) 1350 —g K
i
WSO

93, oIS ~[THE ST A AAR?
(A) @
(B) cyerga
@y tm
(D) ARG e
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i ch one set of letters when '
plagccd ot the gaps in-the given lettersggszgt;ﬁzﬁ
cﬂmplete it

ab —— baa — — ab ——
(A) aabaa
(B) aaaad
() baabb

(D) aabab

5, If Suman celebrated his victo
ry da
Tuesday, SthJanuary, 1965, when will he celegniz

yis next victory on the same day?
(A) 5th January, 1972
(B) 5th January, 1973
(C) 5th January, 1970
(D) S5th January, 1971

96. If 9408 + J7 =336, whatwill comeinplace

of the question mark (7)?
(A) 28
(B) 26
(C) 784
(D) 676
a speed of 36 km/hr.

nds. It will cross
seconds.

97. A train moving at
crosses a standing man in 10 seco
a platform of 55 meters long in

(A) 7

1
(B) 15:2—
C) 5%
(®)] 52
(D) 6

98. The clear sky looks blue pecause of

(A) diffraction of light.
(B) scattering of light.
(C) reflection of light.
(D) refraction of light.

(23)

Google Play

RB/SI/WB(Prel)/2025
xl94.mﬂm@%§mﬁﬁﬂmmﬁ?mm
TR AR50 297 O ol 2 2
&K) aabaa RE
(B) aaaaa ¢
(C) baabb o-8-DVies
(D) aabab

05, ¥fi s 53 @, 1965 P IR

ﬁwﬁmonmm,wm@aﬁﬁmamﬁ
wig e M3 Al 907

C G G

(A) 5% @i, 1972 PR
(B) 5% G, 1973 (.7 A
/(653@@: 1970 %‘:(c‘w‘

(D) 53 wigEls, 1971 C’f P

aw s 28

06. 9408+~/7 =336 T, o714 (?)

408 _ -L'?.Jc;[gff

AL
(A) 28 O T2
NN

o i
784 T UGS
< iy

(D) 676
- 97. aﬁfﬁ@ﬂ%ﬁsﬁ/ﬂ@tﬁwﬁm Q] AT Hg gﬁ

a}ﬁ?@lﬂ(ﬂ@t@tﬂﬁ@'ﬂﬂ?@i@ﬂﬁﬁﬁm%ﬂ
aﬁﬁgﬂmuﬁmwmm %’

e |
(A) 7 ’1;(:35& <
BT 15 V€
©) 5= ©
o6 i
\06
98. FvZ WA Ael (T, Pied— \J\\%é_ N
(A) s fiogae 5
By e Roe </<{ ;
(C) SR gty \ Aﬁu/’g
(D) WiteT efesrge
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99. During the reign of whom of the following
Ibn Batutah visited India?

(A) Sher Shah Suri

(B) Muhammad bin Tughluq
(C) Alauddin Khilji

(D) Ghiyasuddin Tughluq

100. Which of the following instruments
measures high temperature?

(A) Thermostat
(B) Pyrheliometer
(C) Pyrometer
(D) Pyknometer

GET IT ON
Google Play
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99. AHA I AT 337 Tgel
AR ?

(A) ==z AR
(B)-w 31 e
(C) weTefwe et

(D) PP g

100. A P TEf6 T Slolat Aot g,
(A) 2AUTGIG
(B) PrcafFraifne
“ARgaifoE

(D) PEEIRGE
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